Whitman College

Econ 358

Exam 2

October 19, 2006

Write all answers in your blue book.  Show all of your work.  The exam ends at 2:20.

1.  (20pts)  Alpha Inc. is a corporation with 100,000 shares of stock outstanding.   It earns with certainty $60,000 per year in after-tax profits.  Alpha has one potential investment opportunity.  This opportunity would cost $52,000 in period 3 and would provide benefits of $10,000 per period in each of periods 8 through 13.  Assume the market interest rate is 5%.  What is the equilibrium price for a share of Alpha stock?  Explain your work.

2.  (30pts)  Last year Beta company purchased 100 acres of land for $2 million.  The land is currently still worth $2 million.  Two of the company’s executives have submitted alternative plans for how to use the land.  Project I would require an expenditures of $100 million now and $40 million one year from now, and provide benefits of $150 million one year from now.  Project II would require an expenditure of $54 million now and provide benefits of $65 million two years from now.  Which project, if either, should be undertaken?  Thoroughly explain.

3.  Suppose you work for a firm whose chief executive officer is considering using the payback period rule (PPR) to evaluate all the firm’s potential investment projects.  In fact, your boss is now considering using the PPR with a cutoff date of Period 8 to evaluate a project which costs $75,000 today and provides 14 years of annual benefits of $10,000, starting two years from now. 

(a)  (5pts)  Show the process your boss would go through to evaluate the project using the PPR.  

(b)  (20pts)  Write a memorandum to your boss explaining the deficiencies of the PPR and making the case that the firm should not use the PPR.  Your memo should be clear, thorough, and persuasive.  In order to help you illustrate your points, use as an example the project described above.  Assume that the market interest rate is 7%.

4.  (25pts) SoftWare, Inc. is considering a project to develop a new spread sheet.  Development of the spread sheet would cost $20,000 in the current period.  If Software develops the spread sheet, then there is a 50 percent chance that SoftWare would win a state government contract for use of the spread sheet, in which case SoftWare would earn profits from its spread sheet sales of $8,000 per period for each of periods 1-5, and no profits thereafter.  If SoftWare wins the government contract for its spread sheet, then it would also sell more of its data bases, generating extra profits from data base sales of $2,000 in each of periods 1-5 and nothing thereafter.   There is a 50 percent chance that SoftWare would not win the government contract, in which case it would earn profits from spread sheet sales of $1,000 per period in each of periods 1-5 and nothing thereafter.   Without the government contract, there would be no extra sales of SoftWare's data bases.  SoftWare has spent $5,000 wining and dining bureaucrats who will make the government contract decision.  Assume the market interest rate is 6%.   What is the expected net present value of the spread sheet project?

